Ex'ru I;'D Item no. 9994

PREMIUM 1.[M8x 45 (D | 4x
2.|M8 © 8x
3./1M8 4x
4.|M6x35 ()mmmm | 8x
5.|M6 © |[16x
6.|M6 ©) 8x
7./|M5x12 ¢rmm | 2x
8.|M5x12 (J—m | 2x

L: 680 mm 9.[M5 © 8x
10.| M5 ®) 4x
1.2x25x25

LxW: 25x25 mm

4
@20
63

=
-~
)



